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QUESTION 1

What are two benefits of a star network topology? (Choose two.) 

A. Disruption of the entire network is not required when adding new machines. 

B. Any problem which leaves the network inoperable can be traced to the central hub. 

C. This network type requires less cable as compared to linear bus topology. 

D. The performance of one of the numerous nodes cannot reflect on the performance of other nodes. 

E. The performance of the entire network is directly dependent on the performance of the hub. 

Correct Answer: AB 

 

QUESTION 2

Which option allows an EtherNet/IP I/O device to be safely installed where it is subject to water immersion? 

A. The device is rated IP20 and the power wiring is installed securely to the terminal block. 

B. The device is rated IP67 and a power cordset is used. 

C. The device is rated IP67 and immersed to 10 m. 

D. The device is rated IP20 and immersed to 10 m. 

Correct Answer: B 

 

QUESTION 3

What is the most critical step to perform when you are using optical fiber connectors? 

A. Cover with dust caps when not in use. 

B. Immerse in alcohol prior to use. 

C. Blow off and carefully wipe down with a tissue before and after each use. 

D. Lightly sand with cloth prior to mating. 

Correct Answer: A 

 

QUESTION 4

What two things does a router do when it forwards a packet? (Choose two.) 

A. switches the packet to the appropriate outgoing interfaces 
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B. computes the destination host address 

C. determines the next hop on the path 

D. updates the destination IP address 

E. forwards ARP requests 

Correct Answer: AC 

 

QUESTION 5

At which Layer would you use trace route to validate the path? 

A. Layer 1 

B. Layer 2 

C. Layer 3 

D. Layer 4 

Correct Answer: C 
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